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1. Which set of numbers are all irrational numbers?

Aim, A2, 97

B. '::__3, ?.’ 16‘::-
© {Js, 1z, 17}

P {425, J36, JJ49}

2. Which fraction is equivalent to ,63?

A

19
300
B.
110
C. 9
13
D.
11
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3. Which fraction is equivalentto 1.2 ?

"1
11
B 4o
11
C s
10
D44

4. In which sets of numbers does " 51 belong?

A integer and rational

B. integer and whole

o

irrational and natural

©

whole and natural

5. In which set(s) of numbers does the real number 0 belong?

A irrational only
B. rational, whole, and natural
C. rational, integer, and natural

D. rational, integer, and whole
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- Which choice is an irrational number?

A
3

B. _
0.11

C.

AW
B. X
c. vy
D. 7

- What is the approximate difference between 4120 and «.'% ?
A 2
B. 4
c. 20
D. 40

- What is the approximate value of @ + @?
A 8
B. 12
c. 18
D. 36
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10. Which number is located at approximately point P on the number line
below?

A

Nials
B.

A0
C.

W70
D.

80

11. Which list of values is ordered from least to greatest?

A
J13,2.8, 45,13

B.
2.3, 4.5 13, 13

C.
2.5, 4.5, 13, 13

D.
2.9, 413, 4.5, 13

12. Which list below shows numbers in order from least to greatest?

AJE, 2, 2.4 47

.IE.I

B 2.4, .7, 2, .8

.IE.I
 24,47,.8, 2
b J8, J7, 2, 2.4

.IE.I
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13. Samantha and her father are building a boat. They need a board that

measures +/>1 inches wide. About how wide is this board, and to which
number set does it belong?

A7 inches, irrational numbers

w

7 inches, rational numbers

C. 8 inches, irrational numbers

o

8 inches, rational numbers

4 The value of /17 is between which two consecutive integers?

A 4and5
B. 3and 4
C. "4and "5
D. "3 and 4

15. A square table has an area of 60 square feet. Between which two
consecutive integers is the length of the table?

A 6 feet and 7 feet
B. 7 feet and 8 feet
C. 8 feet and 9 feet
D. 9 feet and 10 feet
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